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g1 ¢ €
k= (nQw, &= (), A=dv,
O
ik (2b)
H = (w/ok x E (Al)
H, = (W/o)(KE, - KE)
H, = (W/o)(kEs - kE)
H, = (W/o)(kE, - KE) (A2)
transverse longitudinal E=E +Eu,
H=H,+H.u, = (Wcfk xE + k(u, xE) + E,(k xu,)}
2 k XZ 1 2
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e = (K
(12a) ~ (12d)

(129)
&E,; - € E,; = ATk [Py, = -4mi(KPs, + K Py,)

(12b)
Ep - Eq = -(41ilg))P.K,
E, - E, = -(4ril€)kP.,
E,, - E,, =-(4ri/e)kP,,

(12¢)
(KEy2 - KE) - (KE - KEq) =0,
K(Ey2 - E1) =K/(Eeo - E)

(12d)
(O (kEps - koEyp) +K(Ey, - E,p)] = -(0/0)4TiP,
([ (:E 2 - knEer) - K(Ez - E;)] = +w/0)aTiPg,,
KBy - KoEyo) + K(E;; - E;) = -4Ti (WIQ)°Py,
(KB - KnEyr) + K(Eys - E,p) = -4TH (WI0)°Py

k, k, ki X y
2 k=0
(A 4d) (A4b) (A4c) (A4a) (Ade)
6 4
x Kk, k-E, =0  k’=(wlo)
E, E, xz LT k

B, = Ejoost;, B,y = Ey00sT,

E,= Essint, E,x=E;Ssint,

homogeneous E H
6, 6,

Ea = Eypoosh;,  E, = Excos6,

Eyl = E Ey2 = Ey
B, = Epsing,  E, = Eusing,

K, = Kq = K, = kSinG, = ksing,
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(A3)

(A49)

(A4b)
(A4o)

(A4d)

(Ade)
(A4f)

(A4f)
(Ade) x k, + (A4f)

Xz E
(AD)
El E2 kl k2
(A6)



K =ki=k,=0
ki, =-k0osB;,  ky, = +k,c086

(A49) ~ (A4) (A6) (A7)

&,E,,8IN0, + €,E,,Sin6; = 4Ti (K P, + K P,,) = 4ik P,

€' (E,,0080; - E;,c0s0;) = -4mik, P,

€ (Ey - Ey) = -41ik P, = 0

K(Ezs - E;d = K/(E,,0088, - E;,0088,) =0

K(EpSing, + E;,8ind,) + (KoEps - KiE) = Ko Eps - ki Eyg = 4T (007/C)Py,
K (ExpSinG, + E;,Sindy) + (ky,E,,0088, - ki, E;,0088,) = 47i (00’/)P;,

€,51n6,c0s0, + €,0050;51N6, = (c/w")(k,c0s0, + k,cosO,
(A83) (A8b) inB, 000 s0,sinB, = (C7/w’)(k,cosh, + k,c0s8;)

EZ = 4T[| 22 Cosel[ PS'X + (ky /kx) Psy] _(81 /s.)s'rﬂlpsz
P c? k cosB, +k, cos,

~w? cosO, [P +(k k)P 1+E,/€)sin6,P
E1 :4.‘.” —_— SX y X Sy S,z
P 2
c k cosB, + k, cosf,

§=6=¢ SFG
|Elp| # |E2p|
(A8c) ((A99 (A9Db) (A8¢

Eoman Loy & it
= =47 — —2— =41 — :
B =Es c’ k, -k, c? k cosB, +k, cosb,

a7 (A9) (A10) g=¢g=¢=1
k=k 6=6,
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